VR 2 4R R RS HE AR E R O

O Fpk 2 4 FFEEERNLE AN FEERIT BN T, HEERE AL, R HERRO 3 614 3%

Bh RO FIER T, 2RHERREO 1 2K 1 5FRTh o7,
HEpSSeEL . FrEaRAbEC6, 191 ADNHEEL, 3, 214 ABAFEFATESE ER-T,

O @KL, FHREOZRMGERN 1. 1 15 ThoTe, £z, HEEEAERIIT7. 9% ThHh-o7,

X LI () (Rl

< HEE Y >
1 HFERNR

SR 2, 466 A

R % 2, T07AN HH RS =2 1. 10f% (1. 061%)
2 ZRIRB L ONEF AT ES

SR 2, 706 A

NFFFRTEES 2, 266 A fey s 83. 7% (86. 1%)
<Fpth el >
1 HRERNR

AR P 948A

HHREE 5% 3, 484 A HHRERS 3 3. 68f% (3. 641%)
2 ZRIRIB L OANEF AT EE

SR 3, 482A

3
W

NFFFA] P EHE I 948A Bk 27. 2% (27. 5%)
< —fixsedk - A >
1 HFERN

HAJREE 8, 169 AN (7, 86 3AN)

fife & HAREE 2K 8, 116 A (7, 813A\N)

fife 7 HHRRAE R AHH 1. 136F (1. 1165 ER 0. 5 9f% (0. 6 8f%)

e EADETL. 1142 (1. 09f%)
2 HREZE TR
HHREZE S8 4K 642N ZDHH5 3 NIHFERERESE
FHREZE B3 7. 9% (7. 0%)
(1) ZRPHBEEFRTITEEFRNL 4. 4%EHEbENoT2, (BHEEITEEZROL 4.
(2) F#RHELZ RS EEROHBEETEES 303 AN HELEEE 6. 4% (6. 4%)
3 R
SR 8, 097A SRRfE R 1. 11f% (1. 091f%)

5 %)

AHE 7, 935 A 1. 1342 (1. 104% EFHE 162A 0. 584% (0. 6 5%

4 NERFETEHE
(1) FIBEICLIHOANFZHAFEES 7, 044N BAHEST. 0% (88. 9%)
(2) ANFHFPEEBDNEETEBITHT- o T2FRBLIOR 1 7238 (1 92 38

< K>
1 CRERGEOL - R L UGEER

2HH 12168144 AN ERF SK7TR1I18AN & EGbETI7TKR23F262A

2 R HEEE% 16 3N HFEGEE 0. 6 24% (0. 531%)
3 SRR ZHEE 157N ZHEE 0. 60fF (0. 527%)
4 NFHATEE NFEHFATFPEEH 122N 6KBE 77. 7% (88. 8%)

< ANFHF AT EEREE L OEAFTEE >
1 AFHFATPEERE 10, 380A
2 EAFEH 10, 372A
3 TEEREZHE 98. 6% (98. 7%)






A B/A" C/B" (%)

3,800 |20 30 | 998 | 1,076 | 1,076 | 1.08 947 88.0
440 50 | 220 252 252 | 1.15 210 83.3
840 |40 50 | 412 373 372 | 0.91 327 87.9
480 50 | 240 390 390 | 1.63 239 61.3
160 |35 40 60 95 95 | 1.58 57 60.0
40 75 30 44 44 | 1.47 30 68.2

40 75 30 33 33 | 1.10 30 90.9

40 50 20 16 16 | 0.80 16 | 100.0

80 50 40 23 23 | 0.58 23 | 100.0
2,120 1,052 | 1,226 | 1,225 | 1.17 932 76.1
1,080 [30 40 | 416 405 405 | 0.97 387 95.6
7,000 2,466 | 2,707 [ 2,706 | 1.10 [ 2,266 83.7
3,120 [20 30 | 888 | 3,355 | 3,353 | 3.78 888 26.5
80 50 40 91 91 | 2.28 40 44.0

40 50 20 38 38 | 1.90 20 52.6
120 60 129 129 | 2.15 60 46.5
3,240 948 | 3,484 | 3,482 | 3.68 948 27.2
10,240 3,414 | 6,191 | 6,188 | 1.81 | 3,214 51.9




1.11 1.09

1.11 1.09
(D)

0.60 0.52
(%)

()




A | 10,520] 7,040] 440] 960| 520] 160] 80| 40| 40| 40| 40 | 80 1,080
2,466 998| 220] 412] 240] 60— 30— 30| 20| 40| 416
B 2,706] 1,076] 252| 372 390 95| — | 44| —| 33| 16 | 23| 405
C 2,266 947| 210| 327| 239| 57| —| 30|—| 30| 16 | 23 | 387
c/8] 83.7] 88.0[83.3] 87.9]61.3]60.0 68.2 90.9] 100 | 100 | 95.6

948 88| — | — [ —[—1 40| —] 20| —|—|— [—

D 3,482 3,353 —|—[—[—1 o91|—| 38| —|—|— [ —

E 948 888| — | — | —|—| 40|—| 20| —|—|— | —

e/p] 27.2] 26.5| —[|—[—|—a4.0] —[52.6] — [ —[— [—
A-(C+E)| 7,306 5,205| 230| 633| 281| 103| 40| 10| 20| 10| 24 | 57 | 693
8,116 *4,810] 2509| 653| 343] 122] **[ x| 17] *+| 18| 42| 744
F 8,097 *4,798| 250| 651| 342] 122 **|[ x| 17| | 18 | 41| 741
G 7,044| 5,071| 230| 552| 258| 102| 40| 10| 17| 6| 19 | 50 | 689
G/F| 87.0 ~xx (88 8| 84.8]75.4[83.6| ***| *==| 100] ***|105.6[122.0[ 93.0
A-(C+E)-G 262 134 — | 81| 23| 1|—|—| 3] 4| s 7 4
163  *110]— 1| 23] 8| —|—[—|—] = 1 5 4
H 157  *105| — 1] 22| 8] o|—[—1| o =] 1 5 4
I 122 go|— | 22| 8|—|—|—|—] 2| 1 5 4
IH]  77.7 ~*x| — | 100] 100 — | — [ ——1] ***| 100 | 100 | 100
10,380] 6,986| 440] o901| 505] 150] 80| 40| 37| 38| 36 | 78 [1,080
J | 10,372] 6,981] 439| 899| 505| 150] 80| 40| 37| 38| 36 | 78 [1,080
J- -148 -59| -1| -61| -15| -1| o] o] -3| -2| -4 | -2 0
98.6] 99.2[99.8] 93.6]97.1[99.4] 100| 100]/92.5[95.0/90.0 |97.5 | 100

98.7] 99.3] 100] 93.4[97.5] 100] 100] 100] 100] 100] 100 [ 100 [99.7

*
A-(C+E) 420 40 224 10| 184 10 5 4
633 290 185 12
633 290 185 12
420 40 224 10] 179 6 5




B
(

A ) | BZA(%) c )

4,377 4,760 303 6.4 | 4,810 301 6.4

230 284 41 14.4 259 37 14.5

633 665 84 12.6 653 47 7.9

281 372 45 12.1 343 26 8.9

103 115 6 5.2 122 14 9.4

20 19 2 10.5 17 0 0.0

24 11 1 9.1 18 1 6.7

57 33 1 3.0 42 5 11.1

693 787 76 9.7 744 58 8.3

460 652 41 6.3 633 16 2.7

234 316 37 11.7 290 32 10.0

194 155 5 3.2 185 15 9.7

7,306 8,169 642 7.9 | 8,116 552 7.0







C/A F=C-D+E F-A
1.00
24
0.57
0.88
23

0.65
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